B 2253 - 9372% Bl 4A4-3

(AR EAEE + A=EFHoIE + 1 BE AZFR)

1 dA=xA
E = 205000 MPa
* APZT Fy = 235 MPa D= $406. 4 mm Ag = 11200 mm?
Fu = 400 MPa t= 9 mm
* AT ZHo|E Fyp = 355 MPa Dp = $496. 4 mm
Fup = 520 MPa tp = 50 mm
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(End Plate)
* ARE B A A
(1group@d)
Fyg = 355  MPa L AdAE = Zo| =7 Scallop
Fug = 520 MPa cmm) Wg(mm) Lg(mm) tg (mm) Sc (mm)
1 45.0 190.7 230.0 25 30
Z 574 b/t = Wg/Tg = 190.7/25 = 7.63 < 0.56#y(E/Fyg) = 13.46 ..0K
* THEE (1group?d)
IHEE =7 bolt hole M fapsks] AFZ= Bl x]
db(mm) | dbh (mm) | Nb(EA) | Ab(mm?) | Fub(MPa) | a (mm) b (mm) = 6(°) |FA17+ES(mm)
F10T M27 30.00 2 573 1000 60.0 188.2 30.0 97.4
z 8 EA
S = 97.4 mm 2 2.5%db = 67.5 mm ---OK
Lc = 81.6 mm 2 60 mm ---OK
A Q Ol&LS.
®Pn = ot+Fy+*Ag = 0.9%235%11200 *1/10"3 = 2368.8 kN
®Pn = ¢t*FuxAe = ¢t*FuxUxAn = 0.75%400%1%11200 *1/10"3 = 3360.0 kN
An = Ag = 11200 mm?® U= 1.00
- Pu,req = MIN(2368.8, 3360) = 2368.8 kN
3. IY¥E FE
Fnt = 0.75+«Fub = 0.75%1000 = 750.0  N/mm?
®Rn = @¢*Fnt*Ab = 0.75+750%573 *1/10"3 = 322.3 kN/EA
. N,req = Pu,req/ ®Rn
= 2368.8/322.3 = 7.35 EA < 8 EA ..0K
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B 223N - 9372% Bl 44-3 (AR B QAT + AEE0|E + 1 BE AFAT)

oo olE AQE Ak

Lc = b*SINO - tg/2
= 188.2xSIN(30°) - 25/2 =
p = Lc+ (Dp-c*2)/2-b*COSO
= 81.6 + (496.4-45+2)/2 - 188.2+C0OS(30°) =

Mut = Pu,req/Nb * Lc/p = 2368.8+10°3/8+81.6/121.8 = 198372. 4 N-mm/mm
®Mn = ¢*Fyp*Zx = 0.90%355%(1*tp*/4) = 79.88  #tp® N-mm/mm
oo tp,req = +(198372.4/79.88) = 49.83 mm < tp = 50 mm ...0K
e ol A=EBd B (#H898%)
* S|4
Swl = 25.00 mm nwl = 1 Ma/1groups o= o5 He.
Lwe = (Wg - Sc - 2+Swl)+*4group = (190.7 - 30 — 2%25)*4 = 442.8 mm
Aw = nwl*SwlxLwe = 1¥25%442 8 = 11070.0 mm?®
®Rn = @*FugrtgrLwe = 0.75%520%25%442.8 *1/10"3 = 4317.3 kN
~. Pu,req/dRn = 2368.8 / 4317.3 = 0.55 < 1.00 ...0K
®Rn = @*FygrtgsLwe = 0.9%355%25%442. 8 *1/10"3 = 3536.9 kN
~. Pu,req/dRn = 2368.8 / 3536.9 = 0.67 < 1.00 ...0K
xElad WX L ($H898%)
- ARE R ddg axpRe] $g& dagloy, 3 & 1este] AT s ZESI,
* S|4
Sw2 = 25.00 mm w2 = 1 Ma/1groups o= o9 7 8=
Lwe = (Lg - 2*Sc - 2*Sw2)*4group = (230 - 2+30 - 2%25)*4 = 480.0 mm
Aw = nw2+Sw2:Lwe = 1%25+%480 = 12000.0 mm?®
®Rn = ¢*0. 6xFug*tg+Lwe = 0.75*0. 6+520%25+480 *1/10"3 = 2808.0 kN
~. Pu,req/dRn = 2368.8 / 2808 = 0.84 < 1.00 ...0K
®Rn = ¢+*0. 6+Fyg*tgxLwe = 1*0.6%355*25%480 *1/10"3 = 2556.0 kN
. Pu,req/dRn = 2368.8 / 2556 = 0.93 < 1.00 ...0K
7. A EFHolE9} YHAT £ HE A& £38A IZZ= Fuw = 420 MPa
- $HR¢
Sw3 = 9.00 mm nw3 = 1 ] HRALH()/EHEALHQ) - 2
Lwe = 2:nx(D/2-Sw3/2) = 2+mx(406.4/2-9/2) = 1248.5 mm
Aw = nw3*Sw3*Lwe = 1%9%1248.5 = 11236.5 mm?®
®Rn = @*FustxLwe = 0.75%400x9+1248.5 *1/10"3 = 3371.0 kN
o Pu,req / ®Rn = 2368.8 / 3371 = 0.70 < 1.00 ...0OK
®Rn = @*Fy*txLwe = 0.9%235x9%1248.5 *1/10"3 = 2376.5 kN

~. Pu,req / 9Rn = 2368.8 / 2376.5 = 1.00 < 1.00 ...0K






